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QUESTION 1

Is this a correct principle for designing vSAN on HPE Synergy? Drives for storage pools should use RAID 6. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 2

Is this a use case for deploying Microsoft Storage Spaces Direct on HPE infrastructure? creating a link between a
Microsoft Hyper-V environment and Nimble virtual volumes 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 3

Is this a reason to use VVols on an HPE storage array to support a VMware vSphere environment? because VVol acts
as plug-ins, integrating array monitoring and management on vCenter 

A. Yes 

B. No 

Correct Answer: B 

Reference: https://h20195.www2.hpe.com/v2/getpdf.aspx/4AA5-6907ENW.pdf 

 

QUESTION 4

Is this a typical use case for a cluster of HPE SimpliVity 380Gs? VDI for users who use CAD applications 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://assets.ext.hpe.com/is/content/hpedam/documents/a00008000-8999/a00008169/ a00008169enw.pdf 

 

QUESTION 5
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Is this a way to help a customer automate deployment of workloads on bare metal? 

Propose an HPE Composable Rack solution and tell the customer to use cluster management to deploy the workloads. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 6

Is this a use case for a cluster of HPE SimpliVity 380H models? providing GPU acceleration for VDI workloads 

A. Yes 

B. No 

Correct Answer: B 

Reference: https://h20195.www2.hpe.com/v2/getpdf.aspx/a00019351enw.pdf 

 

QUESTION 7

Is this a way that a software-defined infrastructure can reduce total cost of ownership (TCO) and increase return on
investment (ROI)? 

It collapses silos under a single control layer to make the infrastructure more agile and responsive to business need. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 8

A customer is virtualizing some of their data center production networks with NSX. You are helping with the plan. 

Is this a valid design for routing within the NSX solution? 

routing traffic between VXLANs (logical networks) locally on each ESXi host by deploying a distributed logical router
(DLR) to an edge cluster 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-NSX-Data-Center-for-vSphere/6.4/ com.vmware.nsx.install.doc/GUID-
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E825C0C7-F4CC-4B26-90AF-A2167AC519DB.html 

 

QUESTION 9

A customer is implementing a Container as a Service (CaaS) solution, and you are helping to provide the 

infrastructure, including the persistent storage solution. 

Does this HPE 3PAR characteristic provide a benefit for the customer\\'s solution? 

multi-tenancy 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://assets.ext.hpe.com/is/content/hpedam/documents/a00050000-0999/a00050422/ a00050422enw.pdf 

 

QUESTION 10

A customer wants to start using containers. They have decided on Docker containers and Kubernetes for managing the
containers, but their IT department not have a great deal of expertise in Kubernetes. 

The customer requires a packaged solution that supports a private registry and role-based access control. It should also
be able to integrate with middleware tools for messaging and CI/CD pipeline management. 

The customer needs help sorting through orchestration platform options. Is this correct advice that you can provide? 

Red Hat OpenShift Container Platform (OCP) and Docker Enterprise Engine (EE) both meet the customer\\'s security
needs. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 11

Is this a correct statement about how containers fit within a DevOps model? 

Containers help to provide simple deployment and scaling for applications in production, but only if the customer
deploys them within an orchestration solution. 

A. Yes 

B. No 

Correct Answer: B 
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QUESTION 12

Does the HPE OneView for vCenter (OV4VC) plug-in deliver this benefit? 

informs the VMware cluster to move the VMs on a server that is experiencing hardware issues before a problem occurs 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 13

A customer has a Red Hat OpenShift Container Platform (OCP) solution. You suggest deploying HPE 

Nimble and the HPE CSI Driver. 

With this proposal, can HPE Nimble fulfill this role for the solution? 

Host images for the private registry. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 14

The architect must design Microsoft Storage Spaces Direct on HPE infrastructure, in order to meet 

customer requirements. 

Is this a correct principle that the architect must consider? 

Use the same RAID level on storage pool drives and the drives with OS volumes. 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://assets.ext.hpe.com/is/content/hpedam/documents/a00067000-7999/a00067845/ a00067845enw.pdf 

 

QUESTION 15

You are proposing HPE Synergy to support a VMware vSphere environment, in which clusters of ESXi 
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hosts provide high availability for workloads such as a web farm, an inventory server, and a database. 

Is this a recommended design principle for this use case? 

Use Tunneled node VLANs for the connections on which ESXi nodes carry production traffic. 

A. Yes 

B. No 

Correct Answer: B 
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